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General Instructions :
(i)  All questions are compulsory. There are 26 questions in all.

(it)  This question paper has five sections : Section A, Section B, Section C,
Section D ard Section E.

(iiz) Section A contains five questions of one mark each, Section B contains
five questions of two marks each, Section C contains twelve questions of
three marks each, Section D contains one value based question of
four marks and Section E contains three questions of five marks each.:

(iv) There is no overall choice. However, an internal choice has been provided
in one question of two marks, one question of three marks and all the three
questions of five marks weightage. You have to attempt only one of the
choices in such questions.

(v) You may use the following values of physical constants wherever
- necessary :

c=3x 108 m/s

h =663 x 10734 Js
e=16x10"1°C
Bo=4nx 107" Tm A~

¢, = 8854 x 1072 C?N- ™2

=9x10° Nm?(C2

4ne

m, =9-1x 1073 kg

Mass of neutron = 1675 x 10727 kg
Mass of proton = 1-673 x 102" kg

Avogadro’s number = 6:023 x 102® per gram mole

Boltzmann constant = 1-38 x 1023 JK~!
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SECTION A
A gy M fw o B Y AB, ©F ) Rl w2 | Saee 98 o
394 g 91 FAddd | 1

The line AB in the ray diagram represents a lens. State whether the lens
is convex or concave.

A T dm  Raeaes T@ (GTTs.) T e deam & W o (3)
fafa | 1

Distinguish between emf and terminal voltage of a cell.

forelt Tt (a.c.) giwy & smgfr & @y wifarafeeam & wfadd (feem) =i
M & foT T I SR | 1

Draw a graph to show variation of capacitive-reactance with frequency in
an a.c. circuit.

4, TR sygen By ‘TEds (fdie) # wn gt R 2 1
What is the function of a ‘Repeater’ used in communication system ?

4
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15, Tt forg oM amaw it g Yt 7E fot & gwie e ogER § | w0 R
3T TUCHS AEN & B ¥ A T I | Igeh! o Foft 1 71 F¢m AT FA
g 2 1

The field lines of a negative point charge are as shown in the figure. Does
the kinetic energy of a small negative charge increase or decrease in
going from BtoA?

Tz
SECTION B

B, R afdmm wagh f T TR w1 am, 6 x 1017 J S9! 9 Bl
TR % UK 8 | TAFRA & Fan F Repem KT | 2

The equivalent wavelength of a moving electron has the same value as

that of a photon of energy 6 x 10-17 J. Calculate the momentum of the
electron.

hitps:/byjus.com
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What is ground wave communication ? Explain why this mode cannot be
used for long distance communication using high frequencies.

/ Fa % guarg Fenia Bem @ yww $ @ o 9 TR e @ /S
HI N JH 1d B0 & A9 F FO 2 a9 IAF H01 B AE 57 & Ho w
3/4 % | Fraem F10 %1 7 1@ IR |

Aa
& 38 mem d v R I w1 e Hifw s R wifis o oa
. WH45°% |
w1 R M @ wet % & W % R FhF $0 F 0= e gwmm B
Red W fAsit T 8 2 SRU 94qTsy

A ray of light passes through an equilateral glass prism such that the
angle of incidence is equal to the angle of emergence and each of these
angles is equal to 3/4 of angle of prism. Find the angle of deviation.

OR
Calculate the speed of light in a medium whose critical angle is 45°.

Does critical angle for a given pair of media depend on the wavelength of
incident light ? Give reason.

\,.9./ 3 Fiedt < TR T % MR W, FEF FIig T & AR gt an
% g AR i Re HF H A FHA R 2

How does one explain, using de Broglie hypothesis, Bohr’s second
postulate of quantization of orbital angular momentum ?

0 o iy e shex g , Wge P AR AR 40 em G W AR 1 R
R % &1 30fEA & 10 Q 1 30y Fe? | §ga g A & 60 em 0 T 9
2}, 9 R S % W w1 uiEed Hifig |
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In a meter bridge shown in the figure, the balance point is found to be
40 cxn from end A. If a resistance of 10 Q is connected in series with R,
balance point is obtained 60 cm from A. Calculate the values of R and S.

R S
Muy——
G
A B
|| {4
1 \ )
Qs |
SECTION C

a9 & fam i fafEe qo & sq@w @ goige 6 9 Fram ofed gesn
voae i Iufefd H, fordt o & I fagq v it R w1 @imE w9 |
%9 YR wgEE A R |

forelt & € Feht 1 W-Fca 5 mH R | TR I faregq ¥R 1 A 30 ms
' H4ATIAD TR | WIS d e fagares 5@ (W) 1AW
plicascEais

HYAT

g % fore mew @ fam, gl ¥ wgw mew fFam @ fFw
fir ? 2dam ¥ wE A |

ywentE (Rysqdan) | gedt &1 gl 89 amm 04 G R | 7= &
b Ry syt wa AR | R T # : geht i B = 6400 km.

State Lenz’s law. Illustrate, by giving an example, how this law helps in
predicting the direction of the current in a loop in the presence of a
changing magnetic flux.

a given coil of self-inductance of 5 mH, current changes from4 Ato 1A
in 30 ms. Calculate the emf induced in the coil.
OR

In what way is Gauss’s law in magnetism different from that used in
electrostatics ? Explain briefly.

The Earth’s magnetic field at the Equator is approximately 0-4 G.
Estimate the Earth’s magnetic dipole moment. Given : Radius of
the Earth = 6400 km.
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frgr g a0 ¥4 3w Bt § 29 a0l R ot w0 da =R 2

13.

14.

+ x-378 % R THA (FEO) HA g5 FEq-grEha a0 H T Faetm
TR | faegq qu IRl & At fewm gwise | fawq 9w R &9 %
RO (FTET) qoT T % A o e g & fafee |

How are electromagnetic waves produced ? What is the source of energy
of these waves ?

L _Draw a schematic sketch of the electromagnetic waves propagating along
the + x-axis. Indicate the directions of the electric and magnetic fields.
Write the relation between the velocity of propagation and the
magnitudes of electric and magnetic fields.

ot WeNfFea o & &9-Faae ao seht 31d 7Y ¥ w9 T Hif |
foreht feafFea werd A ard oy, o8/ #, 100 7 ? | fvem T & T,
%8 yered 1 famfen W IHS RIS AN &1 6:25% BT 2

Obtain the relation between the decay constant and half life of a
radioactive sample.

'The half life of a certain radioactive material against a-decay is 100 days.
After how much time, will the undecayed fraction of the material be
6:25% ?

AN TArE F wfawer (F91) # w3 o 2 yH@ Wl 1 e @@ e R 7
IR TAR & ANoed aas & §9 ° I & g 9 35 Fadfafy =l =
ey IRE it FEEA | T HY |

Write two important considerations used while fabricating a Zener diode.

Explain, with the help of a circuit diagram, the principle and working of a
Zener diode as voltage regulator.

@ # g9 e Wiy (9 N g aRar w1 9E § S, 6 Tde
TUfT R g L WF R IS X a Y il & o9 6 vV it T et S &
T, 1 38 99 (i) T Iaw 997 (i) § Gfa St 1 99 31 FIR |

|
r
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Find the equivalent capacitance of the network shown in the figure, when
each capacitor is of 1 uF. When the ends X and Y are connected to a 6 V
battery, find out (i) the charge and (ii) the energy stored in the network.

i

oy

|
-

16. Seo@ T for fanrmdt (TfrNHR) e fag" w s @ 1 @ @
e ot e et Pt (Q3RmzR) 1 o gmfdar & 9fz 6 W
T 3 | fhedt @ & fogqaes 5@ (3..0%.) & 9 & fag, dlezfta 6
o i R (MIRrE) = St @ G T 3
State-the underlying principle of a potentiometer. Write two factors by

which current sensitivity of a potentiometer can be increased. Why is a
potentiometer preferred over a voltmeter for measuring the emf of a cell ?

L @ W F v fow F o d R B e w B e
AT |
()  ohanll v A 3 R g s T A R gt I wm A R
T gH Y i T 2 | T & fee () wfd i Sawe wfa deve
Bl & T S B, (i) TH-gAFeHl Hit AfFan nfew St =
T Aty R 2 o1 I A IfE & fore wrw fafde | 3
Define the term ‘intensity of radiation’ in terms of photon picture
,of light.

Two monochromatic beams, one red and the other blue, have the
same intensity. In which case (i) the number of photons per unit
area per second is larger, (ii) the maximum Kkinetic energy of the
photoelectrons is more ? Justify your answer.

S, é/ Aqadt e A g # TEdl genH b i s F g A
2 7% F fomaR T Hife |

(b) YU FHIF & ITGN gRT SWEE foh I9A 4 @ mea e fafams
€ a1 8, IR IR IS gu g 9ot R A | 3
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49.) (a)
(b)

(c)

(a)

(b)

v

Give two reasons to explain why reflecting telescopes are preferred
over refracting type.

Use mirror equation to show that convex mirror always produces a
virtual image independent of the location of the object.

wiwfa safewm fFS o w0 % e smavas i (wfeey) fafe

i & R wim F, ffel & e @ ) % A F gl F wy S
#i N & Tada (faem) it ol & fog T 7% =5, =i 3=
oft yEa (Ywfied) srafaffa @ € | @ o6 fit v @ @ g
T & TRl 8

A f MR mw T vmE e, R s TR G m=wd
I Tt 1= oft yrae (dudhied) swftafda wd 8 2

Write the necessary conditions to obtain sustained interference
fringes.

In Young’s double slit experiment, plot- a graph showing the
variation of fringe width versus the distance of the screen from the
plane of the slits keeping other parameters same. What
information can one obtain from the slope of the curve ?

What is the effect on the fringe width if the distance between the
slits is reduced keeping other parameters same ? p

\[ga/ T At TR, (LCR) 9y # fFeh @ vift. (a.c.) @0 & & @ =
I @ R aiadig B omgfa ' R | @ IR R, G Ry (R, > Ry) &
fo, o' % wem % ¥ 8 fogq aw ¢ % faeew (Thada) B it & g
T TT |
W (@) & I ® Frafefea wwt % w4

(a)
(o)

form gm # argAre ifire dfigwr R ofk it 2
form feufa & wft o orftres @ ot =i 9

A series LCR circuit is connected across an a.c. source of variable angular

frequency ‘o’. Plot a graph showing variation of current 4’ as a function of

‘w’ for two resistances R, and R, (R, > R,).

Angwer the following questions using this graph

&)

@

In which case is the resonance sharper and why ?
In which case is the power dissipation more and why ?

10
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}1./ TS, AduES a9 fagqdt el § R quit & foe sawEs i s
G TR |
TN ANEIHA VA TN & AR AR ING ST 26 i e Hffde | 3

' /T)/raw the necessary energy band diagrams to distinguish between
conductors, semiconductors and insulators.

, /HBW does the change in temperature affect the behaviour of these
materials ? Explain briefly.

£2. () TR = ¥ W W e AHD § 2 v B R (GRE) @
gy ¥ fafew |
(b) HER STTIT H YT 3202 & forrdl A 1guantt 1 Seer@ v | 3

(a) What are the three basic units in communication systems ? Write
briefly the function of each of these.

~ Write any three applications of the internet used in communication
systems.

@ugq
SECTION D

ga//wﬁawﬁm@n?ﬂﬁﬁgﬁ-mmmﬁ’m@ﬁﬁ@w
fra iR T | 3HS T A I g FO ol A W 3@ AR I IR A
fFm T W | A @ A T (FA) B G AR U, 3T I 3% @ form
I T IR aF W 7 e, Alh A W A A g AT | v I @
I8 A T B A T | T 3% FA b forg STt o IH @ T |

I T 1 enutia frafefa st % s g 4

(a) ¥H 9 % ANH W g YR Q qei 1 Iewrg HIRAC |

b) Tt Ted gu T A W AR uaft 3 Im A @/ B Tl T A,
fohrg ot W IR W A TA AT (UTF) vFH T GHA B | FH
T HR R 2

(© fagq @57 @ I Feqafe & § @ soiwen o ggam (FeR)
? IE, IH! ez Hi Afd 3= R e I R | T fife, w1
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During a thunderstorm the ‘live’ wire of the transmission line fell down
on the ground from the poles in the street. A group of boys, who passed
through, noticed it and some of them wanted to place the wire by the
side. As they were approaching the wire and trying to lift the cable, Anyj
noticed it and immediately pushed them away, thus preventing them
from touching the live wire. During pushing some of them got hurt. Anyj

took them to a doctor to get them medical aid.

Based on the above paragraph, answer the following questions :
V(ﬁ Write the two values which Anuyj displayed during the incident.

M Why is it that a bird can sit on a suspended ‘live’ wire without any
harm whereas touching it on the ground can give a fatal shock ?

€  The electric power from a power plant is set up to a very high
voltage before transmitting it to distant consumers. Explain, why.

g q
SECTION E

24 (8) T F Rrg= & I @ T HWa@ W F W WM § fwa
AW H T R ST | 3R S weEEt § o Y e & fi=

I T R |
b) @) fFf denises W aefaa syfaa v Wawa: g (dozys)
AR ?

() 9 oyl v fe mem @ g9 Aew § TEn w1 R, @
TP QY A F FNYS WREH @ yfa @ T ¢ 1 @
qieen % fore et & fm & =9 & gegm ffe | 5
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T IR oF F gl g3 Y ashat B @ H (R) € | 3% IReel vard
(ATETW) F YTy € | T ARG A Y T AJAR ATIHAE i, W1EAH
% Troesh o @1 T @

(@) ¥ ENA A g BiHE gt 71 Hife |

(b) o feufa o 28 gEiem st & i ot Fr wem 2

(c) % h g oF & g R G & I >y + 1)/2 R, A W RE
% fore fw oM@ sAwY | W WA (Fawern) g &1 yhifem i
THfa o Bt 2 5

(a) Use Huygens’ principle to show the propagation of a plane
wavefront from a denser medium to a rarer medium. Hence find
the ratio of the speeds of wavefronts in the two media.

(b) ()  Why does an unpolarised light incident on a polaroid get
linearly polarised ?

(i1)  Derive the expression of Brewster’s law when unpolarised
light passing from a rarer to a denser medium gets polarised
on reflection at the interface.

OR

13
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A biconvex lens with its two faces of equal radius of curvature R is made
of a transparent medium of refractive index y,. It is kept in contact with
a medium of refractive index i, as shown in the figure.

Find the equivalent focal length of the combination.

(b)  Obtain the condition when this combination acts as a diverging
- lens.

Draw the ray diagram for the case y; > (1, + 1)/ 2, when the object

is kept far away from the lens. Point out the nature of the image
formed by the system.

%mmﬁ%amaﬁ‘rw‘z’ﬁmz I, Te I, Safadl ur yarted
8@ R | AR and vk € R F varfa & @ ¥ otk A A ¥ S h
70 d 3, A ARV H FO AR 2 R I g 8 B fore o T
HT | 308 T G M@ A TEAA @ TR ‘I’ FO IR 2 R @
(3FTE) T8 W &R a1 99 1 AW (TRE) qen 39 e @ i |
afe At andd  forg ww faredia femati & &), @ 3@ 9@ A yFR F frg
uftada Em ? Ui 9 H W e oW % e, (S.I) A W
yfoenfya &0 & foe Hive |

14
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foreft s=mht gl it afre q ffes SRl St S H Farw F
T T rravas o e | 78 6 fagm W amafa R 2 R gimeni |
et qur fodas Seferl h dtezaist & i TH Ty, TEfRE T
fedios Sefadl § ar & %0 6 Ton F @ # wa A | IEE T B
T A F R T YT TRepea sl 1 Joerg HIY
Zﬁw G # e & F B G FRUT 1 IP@ HIG

o infinitely long straight parallel wires, ‘1’ and ‘2, carrying steady
currents I, and I, in the same direction are separated by a distance d.
Obtain the expression for the magnetic field B due to the wire ‘1’ acting
on wire 2. Hence find out, with the help of a suitable diagram, the
magnitude and direction of this force per unit length on wire ‘2’ due to
wire ‘1’. How does the nature of this force change if the currents are in

opposite direction ? Use this expression to define the S.I. unit of current.

OR

Draw & necessary arrangement for winding of primary and secondary
coils in a step-up transformer. State its underlying principle and derive
the relation between the primary and secondary voltages in terms of
number of primary and secondary turns. Mention the two basic
assumptions used in obtaining the above relation.

State any two causes of energy loss in actual transformers.

(a) fRtEw & R =) fofEe qun wowe fifi & 2 P smm w gdd@m
€1

b) QA F fogqaES @ (3.W.0E.) FAW: E, 741 E, 3 IR AR
Wiy W ¢, AT 1, 8 | A A A FHRR (TE) IR A S R | H
M F auge THA dA & () fmaws s@ (W) o
(i) =l Jfedy & R =9e Fw FNT S W auEEa
il T |

AYAT
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(a) “forth gss # TReEg (F) AW + Q F Hw TR K IR fIqq Foew,
T Y H AHR q1 /e (WY)W Ak 78 A 17 @ Fom #
gfee & fore § Fmw & |

(b) T Gd@H JARRR TN 1’ qu1 2’ i Fisd R € | Foh fes 3w 9@
FHN: - AT+ A C/m & | 9 Q1 W3 1 gE1e 3TN 39 YR TET T 7
fh 7% 1 & S A g RY3 2 | T 1 F F53 R A fagq. a9 &
gfeEmr (Ar) qen e wa A | 5

ﬁ/ State Kirchhoff’s rules and explain on what basis they are
justified.

‘(/b/ Two cells of emfs E; and E, and internal resistances r, and r, are
connected in parallel. Derive the expression for the ) emf and
\}ﬁf internal resistance of a single equivalent cell which can replace

this combination.
OR

(a)  “The outward electric flux due to charge + Q is independent of the
shape and size of the surface which encloses it.” Give two reasons
to justify this statement.

(b)  Two identical circular loops ‘1’ and ‘2’ of radius R each have linear
charge densities — A and + A C/m respectively. The loops are placed
coaxially with their centres R+/3 distance apart. Find the
magnitude and direction of the net electric field at the centre of

loop ‘1.

16
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